Tender No: DFC-JP-SNT-WORKS-FLN-10 Closing Date/Time: 30/06/2025 15:00

CGM/DFCCIL/JAIPUR acting for and on behalf of The President of India invites E-Tenders against Tender No **DFC-JP-SNT-WORKS-FLN-10** Closing Date/Time 30/06/2025 15:00 Hrs. Bidders will be able to submit their original/revised bids upto closing date and time only. Manual offers are not allowed against this tender, and any such manual offer received shall be ignored.

1. NIT HEADER

Name of Work	point machines, Apparatus cases, MACLS signals, Track circuit equipment (M/s Frauscher make MSDAC system in station yard), Earthing, TMS, ELD, etc. Track circuits to meet centralized operation of points & signals etc. as per RE standard along with testing & commissioning of Interlocking of New Phulera (FLN) station and requisite interface with Existing Signal Interlocking (Hitachi make El System.							
Bidding type	Normal Tender							
Tender Type	Open	Bidding System	Two Packet System					
Tender Closing Date Time	30/06/2025 15:00	Date Time Of Uploading Tender	28/05/2025 16:30					
Pre-Bid Conference Required	No	Pre-Bid Conference Date Time	Not Applicable					
Advertised Value	175823373.80	Tendering Section	SNT2					
Bidding Style	Single Rate for Tender	Bidding Unit	Above/Below/Par					
Earnest Money (Rs.)	1029100.00	Validity of Offer (Days)	90					
Tender Doc. Cost (Rs.)	11800.00	Period of Completion	6 Months					
Contract Type	Works - General	Contract Category	Expenditure					
Bidding Start Date	16/06/2025							
Are JV allowed to bid	Yes	Number of JV Member Allowed	3					
Are Consortium allowed to bid	No	Number of Consortium Member Allowed	0					
Ranking Order For Bids	Lowest to Highest	Expenditure Type	Capital (Works)					

2. SCHEDULE

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedu	ile () 1-S	upply and in	stallation of	Electronic Interl	ocking		4756069.75	
1	1	17.00	Numbers	5646.74	95994.58	AT Par	95994.58	
1	Descrip	otion:- QN1	relay(12F-4B) as per Specific	ation defined in	Tender do	cument.	
2	2	15.00	Numbers	5646.74	84701.10	AT Par	84701.10	
2	Descrip	otion:- QN1	relay (8F-8B)	as per Specific	ation defined in ⁻	Tender doo	cument	
2	3	10.00	Numbers	8470.12	84701.20	AT Par	84701.20	
3	Descrip	otion:- QNN1	L relay (2*4F	-4B) as per Spec	ification defined	in Tender	document	
1	4	10.00	Numbers	8470.12	84701.20	AT Par	84701.20	
4	Descrip	otion:- QNN1	L relay (2*6F	-2B) as per Spec	ification defined	in Tender	document	
_	5	4.00	Numbers	9175.96	36703.84	AT Par	36703.84	
5	Descrip	otion:- QNN/	1 relay (2*4	F-4B) as per Spe	ecification define	d in Tende	er document	
6	6	3.00	Numbers	9175.96	27527.88	AT Par	27527.88	
6	Descrip	otion:- QNNA	\1 relay (2*6	F-2B) as per Spe	ecification define	d in Tende	er document	
7	7	11.00	Numbers	8470.12	93171.32	AT Par	93171.32	
/	Descrip	otion:- QBCA	1 Relay (2F	HD)-4B) as per	Specification def	ined in Ter	nder document.	
	8	35.00	Numbers	6352.59	222340.65	AT Par	222340.65	
8	Descrip docume		mp proving	relay (QECX-61	relay) (4F-4B) a	s per Spe	cification defined	in Tender
	9	28.00	Numbers	6352.59	177872.52	AT Par	177872.52	
9		•						

Page 1 of 8 Run Date/Time: 28/05/2025 16:30:45

Tender No: DFC-JP-SNT-WORKS-FLN-10 **Closing Date/Time:** 30/06/2025 15:00

-	Doscrin	tion:- ONA1	K Polay (6E)	6B) as per Spec	ification defined in	Tondor	document	1
	10	3.00	Numbers	9670.05	29010.15	AT Par	29010.15	
10					on defined in Ten			
	11	198.00	Numbers	12.87	2548.26	AT Par	2548.26	
11				_	gle Level 2.5 Sq. ı			defined in
		document.	illiougii icii	Tillial Block Sille	JIC LCVCI 2.5 54. 1	mm. us p	er specification (acililea ili
	12	29.00	Numbers	42.28	1226.12	AT Par	1226.12	
12	Descrip	otion:- Feed-	Through Gro	ound Terminal E	Block Single Leve	l 2.5 Sq.	mm. as per Spe	ecification
		in Tender do	cument.		T-			
	13	47.00	Numbers	4.12	193.64	AT Par	193.64	
13		otion:- Feed- in Tender do		minal Block Sing	gle Level END Pla	te 2.5 Sq.	mm. as per Sp	ecification
	14	457.00	Numbers	29.73	13586.61	AT Par	13586.61	
14	Descrip	otion:- Feed-	Through Terr	minal Block Dou	ble Level 2.5 Sq.		er Specification	defined in
		document			5.0 <u>2</u> 010. <u>2.0 0</u> q.	с. р	o. opcoca	
	15	42.00	Numbers	4.73	198.66	AT Par	198.66	
15				ninal Block Dou	ble Level END Pla	te 2.5 Sq	. mm. as per Spe	ecification
		in Tender do						
16	16	68.00	Numbers	133.19	9056.92	AT Par	9056.92	
16	-	otion:- Feed- document	Through Teri	minal Block Sing	gle Level 16 Sq. r	nm. as pe	er Specification	defined in
	17	35.00	Numbers	30.63	1072.05	AT Par	1072.05	
17					gle Level END Pla			ocification
		in Tender do		ITIIIIai Block Siii	gie Level LIND Fie	ite 10 54	. IIIII.as pei spi	cilication
	18	85.00	Numbers	69.48	5905.80	AT Par	5905.80	
18	Descrip	tion:- Lever	Type Fuse to	erminal block fo	r 5 X 20 mm Cartı	ridge Fuse	es with LED for 1	2-30 V DC
	4 Sq. m	m. as per Spe	cification de	fined in Tender	document.			
	19	41.00	Numbers	61.88	2537.08	AT Par	2537.08	
19					r 5 X 20 mm Cart		es with N-Lamp	110-250V
					Tender document			
20	20	108.00	Numbers	10.89	1176.12	AT Par	1176.12	
				· · · · ·	Specification defir			
21	21	33.00	Numbers	52.23	1723.59	AT Par	1723.59	
					Specification defin			
22	22	75.00	Numbers	26.82	2011.50 cification defined i	AT Par	2011.50	
	23	9.00		26.82	241.38	AT Par	241.38	
23		1	Numbers		zification defined i			
	24	7.00	Numbers	26.82	187.74	AT Par	187.74	
24					cification defined i			
	25	5.00	Numbers	26.82	134.10	AT Par	134.10	
25					cification defined i			
	26	4.00	Numbers	38.11	152.44	AT Par	152.44	
26					ecification defined			
	27	4.00	Numbers	38.11	152.44	AT Par	152.44	
27					ecification defined			
	28	6.00	Numbers	536.90	3221.40	AT Par	3221.40	
28					BLOCK, FOR 6,3			SES as ner
		ation defined				7. 32 mm	CARTAID OL 103	LS ds per
	29	40.00	Numbers	65.42	2616.80	AT Par	2616.80	
29	Descrip	tion:- Jumpe	er FBS (5-5) a	as per Specificat	tion defined in Ter		ment	
20	30	24.00	Numbers	70.60	1694.40	AT Par	1694.40	
30	Descrip	otion:- Jumpe	er FBS (5-6) a	as per Specificat	tion defined in Ter	nder docu	ment.	
21	31	3.00	Numbers	99.10	297.30	AT Par	297.30	
31	Descrip	tion:- Jumpe		as per Specificat	tion defined in Ter	nder docu	ment.	
22	32	3.00	Numbers	207.45	622.35	AT Par	622.35	
32	Descrip	otion:- Jumpe		as per Specific	ation defined in Te	ender doc		
	33	35.00	Numbers	58.92	2062.20	AT Par	2062.20	
33					L.			

Page 2 of 8 Run Date/Time: 28/05/2025 16:30:45

Tender No: DFC-JP-SNT-WORKS-FLN-10 Closing Date/Time: 30/06/2025 15:00

34	PC3CIII		or fra () i i) as ner Specific	ation defined in '	Tender da	Climent	
34	34	4.00	Numbers	66.62	266.48		266.48	
					tion defined in T			<u> </u>
	35	55.00	Numbers	as per specifica 1.41	77.55		77.55	
35					on defined in Ter			<u> </u>
	36			· · · · · · · · · · · · · · · · · · ·				
36		7.00	Numbers	197946.76	1385627.32		1385627.32	
	-	T		•	ined in Tender d		667000 15	
37	37	5.00	Numbers				667869.15	1
	38	6.00	Numbers	5792.56	efined in Tender 34755.36		24755 26	
38							34755.36	
	39	286.00	Numbers	164.89	pecification defir 47158.54		47158.54	
39					efined in Tender			
	40	2.00	Numbers	589884.75	1179769.50		1179769.50	
40							er Specification (lofined in
10		document.	e lellilliai r	Rack (including s	and lemin	ais) as pe	er specification (Jenned in
	41	55.00	Numbers	3493.92	192165.60	AT Par	192165.60	
41	Descrip						ed in Tender doc	ument
	42	77.00	Numbers	2985.72	229900.44		229900.44	=:: : =
42							Tender docume	nt.
	43	88.00	Numbers	10.89	958.32			
43							efined in Tender	document
	44	55.00	Numbers	7.15	393.25		393.25	
44							ed in Tender doc	ument.
	45	715.00	Numbers	38.86	27784.90		27784.90	
45							in Tender docum	nent
				. , , ,	- p p			
S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Sched	ule () 2-S	upply and in	stallation of	MSDAC			7334948.05	
	46							
ļ		11.00	Numbers	444681.44	4891495.84			
46	moulded Power s Rail Def	otion:- MSDA d cable inclu upply Board	AC Wheel Se Iding Track ! PSC101, Eva Supply and in	ensor and assoc Side Connection Aluation Board A Installation shall	ated indoor / ou n Box, LV Box, (EB 101, Rail Cla	itdoor RSR Overvoltag w SK140-0	4891495.84 180/S-250 GS09 te protection BSI 11 (60 Kg), Track on and quantities	004 (CC), Sections,
46	moulded Power s Rail Def	otion:- MSDA d cable incluupply Board lectors. The	AC Wheel Se Iding Track ! PSC101, Eva Supply and in	ensor and assoc Side Connection Aluation Board A Installation shall	ated indoor / oun Box, LV Box, (EB 101, Rail Cla be done as per s	itdoor RSR Overvoltag w SK140-0 specificatio	180/S-250 GS05 le protection BSI 11 (60 Kg), Track on and quantities	004 (CC), Sections,
46	moulded Power s Rail Def Section- 47 Descrip	ption:- MSDA d cable incluupply Board lectors. The selectors the selectors the selectors and selectors are determined as the s	AC Wheel Se uding Track ! PSC101, Eva supply and in der documen Numbers AC Wheel Se	ensor and associated Connection Board Anstallation shall t. 444681.44 nsor and associated Associat	ated indoor / ou n Box, LV Box, (EB 101, Rail Cla- be done as per s 1778725.76 ated indoor / out	utdoor RSR Overvoltag w SK140-0 specification AT Par	180/S-250 GS05 te protection BSI (11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05	004 (CC), Sections, defined in
47	moulded Power s Rail Def Section- 47 Descrip moulded Power s Rail Def Section-	ption:- MSDA d cable incluupply Board lectors. The sectors of the tendent 4.00 ption:- MSDA d cable incluupply Board lectors. The sectors of the tendent	AC Wheel Se property of the property of the pr	ensor and associated Connection Board Anstallation Shall t. 444681.44 Insor and associated Connection Board Anstallation Shall t.	ated indoor / ou n Box, LV Box, C EB 101, Rail Cla- be done as pers 1778725.76 ated indoor / out n Box, LV Box, C EB 101, Rail Cla	AT Par tdoor RSR Overvoltag w SK140-0 specification AT Par tdoor RSR Overvoltag w SK140-0	180/S-250 GS05 e protection BSI 11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 e protection BSI 11 (60 Kg), Track on and quantities	1004 (CC), defined in 10 meters 1004 (CC), Sections, Sections,
47	moulded Power s Rail Def Section- 47 Descrip moulded Power s Rail Def	ption:- MSDA d cable incluupply Board lectors. The sectors of the tendent 4.00 ption:- MSDA d cable incluupply Board lectors. The sectors of	AC Wheel Se property of the property of the pr	ensor and associated Connection Board Anstallation shall t. 444681.44 nsor and associated Connection Board Anstallation Board Anstallation shall	ated indoor / ou n Box, LV Box, C EB 101, Rail Cla- be done as pers 1778725.76 ated indoor / out n Box, LV Box, C EB 101, Rail Cla	AT Par tdoor RSR AT Par tdoor RSR Overvoltag w SK140-0 specificatio	180/S-250 GS05 e protection BSI 11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 e protection BSI 11 (60 Kg), Track on and quantities	1004 (CC), defined in 10 meters 1004 (CC), Sections, Sections,
	moulded Power s Rail Def Section- 47 Descrip moulded Power s Rail Def Section- 56	ption:- MSDA d cable incluupply Board lectors. The sectors of the tender 4.00 ption:- MSDA d cable incluupply Board lectors. The sectors of the tender 1.00	AC Wheel Se ading Track September 1980 AC Wheel Selection Track September 1980 AC Wheel September 1980	ensor and associated Connection Board Anstallation shall t. 444681.44 Insor and associated Connection Board Anstallation shall t. 267261.15	ated indoor / ou Box, LV Box, (EB 101, Rail Cla be done as per s 1778725.76 ated indoor / out a Box, LV Box, (EB 101, Rail Cla be done as per s	AT Par	180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities	1004 (CC), defined in 10 meters 1004 (CC), Sections, Sections,
47	moulded Power s Rail Def Section- 47 Descrip moulded Power s Rail Def Section- 56	ption:- MSDA d cable incluupply Board lectors. The sectors of the tender 4.00 ption:- MSDA d cable incluupply Board lectors. The sectors of the tender 1.00	AC Wheel Se ading Track September 1980 AC Wheel Selection Track September 1980 AC Wheel September 1980	ensor and associated Connection Board Anstallation shall t. 444681.44 Insor and associated Connection Board Anstallation shall t. 267261.15	ated indoor / ou a Box, LV Box, (EB 101, Rail Cla be done as per s 1778725.76 ated indoor / out a Box, LV Box, (EB 101, Rail Cla be done as per s	AT Par Existing circuits AT Par Existing circuits	180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities	1004 (CC), defined in 10 meters 1004 (CC), Sections, Sections,
47	moulded Power s Rail Def Section- 47 Descrip moulded Power s Rail Def Section- 56 Descrip 57	ption:- MSDA d cable inclupply Board lectors. The s 6 of the tend 4.00 ption:- MSDA d cable inclupply Board lectors. The s 6 of the tend 1.00 ption:- Interf	AC Wheel Sending Track Supply and in Numbers AC Wheel Sending Track Supply and inder documen Lumpsum Sace Design & Lumpsum	ensor and associated Connection Board Anstallation shall t. 444681.44 Insor and associated Connection Board Anstallation Board Anstallation shall t. 267261.15 Configuration 397465.30	ated indoor / our Box, LV Box, CEB 101, Rail Clabe done as personal Box, LV Box, CEB 101, Rail Clabe done as personal Box, LV Box, CEB 101, Rail Clabe done as personal Box CEB 101, Rail Clabe done	AT Par atisting circ AT Par atisting circ AT Par atisting circ AT Par	180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 267261.15 cuits 397465.30	1004 (CC), defined in 10 meters 1004 (CC), Sections, Sections,
47 48 49 S.No.	moulded Power s Rail Def Section- 47 Descrip moulded Power s Rail Def Section- 56 Descrip 57 Descrip	ption:- MSDA d cable inclupply Board lectors. The section:- MSDA d cable inclupply Board lectors. The section:- MSDA d cable inclupply Board lectors. The section:- Included the tendent of the tendent o	AC Wheel Se diding Track Sepolly and in der documen Numbers AC Wheel Sedding Track Sepolly and in der documen Lumpsum Face Design & Lumpsum E wiring supply and E wiri	ensor and associated Connection Board Anstallation shall t. 444681.44 Insor and associated Connection Board Anstallation Board Anstallation shall t. 267261.15 Configuration 397465.30 Port & additiona	ated indoor / out n Box, LV Box, (CEB 101, Rail Clabe done as personal to the control of the con	AT Par atisting circ AT Par atisting circ AT Par atisting circ AT Par	180/S-250 GS05 te protection BSI 11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 te protection BSI 11 (60 Kg), Track on and quantities 267261.15 tuits 397465.30 at site Amount	1004 (CC), defined in 10 meters 1004 (CC), Sections, Sections,
47 48 49 S.No.	moulded Power s Rail Def Section- 47 Descrip moulded Power s Rail Def Section- 56 Descrip 57 Descrip Ltem Code	ption:- MSDA d cable inclupply Board lectors. The sectors of the tended and the cable inclupply Board lectors. The sectors of the tended and	AC Wheel Se diding Track Sepolly and in der documen Numbers AC Wheel Sedding Track Sepolly and in der documen Lumpsum Face Design & Lumpsum E wiring supply and E wiri	ensor and associated Connection Board Anstallation shall t. 444681.44 Insor and associated Connection Board Anstallation Board Anstallation shall t. 267261.15 Configuration 397465.30 Inport & additional Unit Rate Point machines	ated indoor / our Box, LV Box, CEB 101, Rail Clabe done as per some service of the control of th	AT Par xisting circ AT Par g cubicle	180/S-250 GS05 te protection BSI (11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 te protection BSI (11 (60 Kg), Track on and quantities 267261.15 cuits 397465.30 at site Amount 1708021.35	1004 (CC), c Sections, defined in 10 meters 10 met
47 48 49 S.No.	moulded Power s Rail Def Section- 47 Descrip moulded Power s Rail Def Section- 56 Descrip 57 Descrip Ltem Code	ption:- MSDA d cable inclupply Board lectors. The sectors of the tende d cable inclupply Board d cable inclupply Board lectors. The sectors of the tende 1.00 ption:- Interf 1.00 ption:- Onsit Item Qty upply and in 9.00	AC Wheel Sending Track of PSC101, Evaluating Track of Sending Track of PSC101, Evaluating Track of PSC101, Evaluating Track of PSC101, Evaluating Track of PSC101, Evaluating Sending Track of PSC101, Evaluating Sending Track of Sending Track of PSC101, Evaluating Sending Track of PSC101, Evaluating Sending Sen	ensor and associated Connection Board Anstallation shall t. 444681.44 Insor and associated Connection Board Anstallation Board Anstallation shall t. 267261.15 Configuration 397465.30 Port & additiona Unit Rate Point machines 189780.15	ated indoor / out a Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, (CEB 101, Rail	AT Par xisting circ AT Par g cubicle	180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 267261.15 cuits 397465.30 at site Amount 1708021.35 1708021.35	1004 (CC), c Sections, defined in 10 meters 10 met
47 48 49 S.No.	moulded Power s Rail Def Section- 47 Descrip moulded Power s Rail Def Section- 56 Descrip 57 Descrip Ltem Code	ption:- MSDA d cable inclupply Board lectors. The sectors of the tende d cable inclupply Board d cable inclupply Board lectors. The sectors of the tende 1.00 ption:- Interf 1.00 ption:- Onsit Item Qty upply and in 9.00	AC Wheel Sending Track of PSC101, Evaluating Track of Sending Track of PSC101, Evaluating Track of PSC101, Evaluating Track of PSC101, Evaluating Track of PSC101, Evaluating Sending Track of PSC101, Evaluating Sending Track of Sending Track of PSC101, Evaluating Sending Track of PSC101, Evaluating Sending Sen	ensor and associated Connection Board Anstallation shall t. 444681.44 Insor and associated Connection Board Anstallation Board Anstallation shall t. 267261.15 Configuration 397465.30 Port & additiona Unit Rate Point machines 189780.15	ated indoor / our Box, LV Box, CEB 101, Rail Clabe done as per some service of the control of th	AT Par xisting circ AT Par g cubicle	180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 267261.15 cuits 397465.30 at site Amount 1708021.35 1708021.35	1004 (CC), c Sections, defined in 10 meters 10 met
47 48 49 S.No. Schedu 50 S.No.	moulded Power's Rail Def Section- 47 Descrip moulded Power's Rail Def Section- 56 Descrip 57 Descrip Litem Code Litem Code Litem Code	ption:- MSDA d cable inclupply Board lectors. The sectors of the tended cable inclupply Board lectors. The sectors of the tended cable inclupply Board lectors. The sector of the tended lectors. The sector of the tended lector of the tended	AC Wheel Se diding Track Sepolly and in der documen Numbers AC Wheel Sedding Track Sepolly and in der documen Lumpsum Face Design & Lumpsum e wiring supply and the documen Lumpsum face Design & Lumpsum e wiring supply and the documen Lumpsum face Design & Lumpsum e wiring supply and the wiring supply and th	ensor and associated Connection Board Anstallation shall t. 444681.44 Insor and associated Connection Board Anstallation Board Anstallation Shall t. 267261.15 Sa Configuration 397465.30 Poort & additiona Unit Rate Point machines 189780.15 V as per Specific	ated indoor / out a Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, LV Box, (CEB 101, Rail Clabe done as personal Box, (CEB 101, Rail	AT Par xisting circ AT Par g cubicle	180/S-250 GS05 te protection BSI 11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 te protection BSI 11 (60 Kg), Track on and quantities 267261.15 tuits 397465.30 at site Amount 1708021.35 1708021.35 cument.	1004 (CC), c Sections, defined in 10 meters 10 met
47 48 49 S.No. Schedu 50 S.No.	moulded Power's Rail Def Section- 47 Descrip moulded Power's Rail Def Section- 56 Descrip 57 Descrip Litem Code Litem Code Litem Code	ption:- MSDA d cable inclupply Board lectors. The sectors of the tender d cable inclupply Board d cable inclupply Board lectors. The sectors of the tender 1.00 ption:- Interf 1.00 ption:- Onsit Item Qty upply and in 9.00 ption:- AC in	AC Wheel Se diding Track Sepolly and in der documen Numbers AC Wheel Sedding Track Sepolly and in der documen Lumpsum Face Design & Lumpsum e wiring supply and the documen Lumpsum face Design & Lumpsum e wiring supply and the documen Lumpsum face Design & Lumpsum e wiring supply and the wiring supply and th	ensor and associated Connection Board Anstallation shall t. 444681.44 Insor and associated Connection Board Anstallation Board Anstallation Shall t. 267261.15 Sa Configuration 397465.30 Poort & additiona Unit Rate Point machines 189780.15 V as per Specific	ated indoor / out a Box, LV Box, (CEB 101, Rail Clabe done as personal to the second s	AT Par xisting circ AT Par cubicle Escl.(%) AT Par Tender do	180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities) 1778725.76 180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities) 267261.15 cuits 397465.30 at site Amount 1708021.35 1708021.35 cument.	1004 (CC), c Sections, defined in 10 meters 10 meters 1004 (CC), c Sections, defined in 10 meters 1004 (CC), c
47 48 49 S.No. Schedu 50 S.No.	moulded Power's Rail Def Section- 47 Descrip moulded Power's Rail Def Section- 56 Descrip 57 Descrip Litem Code ule () 3-S S8 Descrip	ption:- MSDA d cable inclupply Board lectors. The sectors of the tende d cable inclupply Board d cable inclupply Board lectors. The sectors of the tende d cable inclupply Board lectors. The sector of the tende lectors of the tende lector of the t	AC Wheel Sending Track of Supply and inder documen Numbers of Sending Track of PSC101, Evaluation of Numbers o	ensor and associated Connection Board Anstallation shall t. 444681.44 Insor and associated Connection Board Anstallation Board Anstallation shall t. 267261.15 Configuration 397465.30 Port & additiona Unit Rate Point machines 189780.15 V as per Specific Unit Rate Signals 9175.96	ated indoor / out a Box, LV Box, CEB 101, Rail Clabe done as per second in Box, LV Box, CEB 101, Rail Clabe done as per second in Box, LV Box, CEB 101, Rail Clabe done as per second in Box, LV Box, CEB 101, Rail Clabe done as per second in Box	AT Par xisting circ AT Par cubicle Escl.(%) AT Par Escl.(%) AT Par AT	180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 267261.15 cuits 397465.30 at site Amount 1708021.35 1708021.35 cument. Amount 519641.80 55055.76	1004 (CC), c Sections, defined in 10 meters 10 meters 1004 (CC), c Sections, defined in 10 meters 1004 (CC), c
47 48 49 S.No. Schedu 50 S.No.	moulded Power's Rail Def Section- 47 Descrip moulded Power's Rail Def Section- 56 Descrip 57 Descrip Litem Code ule () 3-S S8 Descrip	ption:- MSDA d cable inclupply Board lectors. The sectors of the tende d cable inclupply Board d cable inclupply Board lectors. The sectors of the tende d cable inclupply Board lectors. The sector of the tende lectors of the tende lector of the t	AC Wheel Sending Track of Supply and inder document of Supply and independent of Supply a	ensor and associated Connection Board Anstallation shall t. 444681.44 Insor and associated Connection Board Anstallation Board Anstallation shall t. 267261.15 Configuration 397465.30 Port & additiona Unit Rate Point machines 189780.15 V as per Specific Unit Rate Signals 9175.96	ated indoor / out Box, LV Box, CEB 101, Rail Clabe done as per some Box, LV Box, CEB 101, Rail Clabe done as per some Box, LV Box, CEB 101, Rail Clabe done as per some Box, LV Box, CEB 101, Rail Clabe done as per some Box, LV Box, CEB 101, Rail Clabe done as per some Box, LV Box, CEB 101, Rail Clabe done as per some Box, LV Box, CEB 101, Rail Clabe done as per some Box	AT Par xisting circ AT Par cubicle Escl.(%) AT Par der document of the process	180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 1778725.76 180/S-250 GS05 the protection BSI (11 (60 Kg), Track on and quantities 267261.15 cuits 397465.30 at site Amount 1708021.35 1708021.35 cument. Amount 519641.80 55055.76	1004 (CC), c Sections, defined in 10 meters 10 meters 1004 (CC), c Sections, defined in 10 meters 1004 (CC), c

Page 3 of 8 Run Date/Time: 28/05/2025 16:30:45

Tender No: DFC-JP-SNT-WORKS-FLN-10 Closing Date/Time: 30/06/2025 15:00

l	D			C !£!	Alam dafinadin T		t	
	· •				tion defined in T			
53	61	2.00	Numbers		20893.00		20893.00	
	1	tion:- Gree			tion defined in T		ument.	
54	62	22.00	Numbers	6352.59	139756.98	AT Par	139756.98	
J4	Descrip	tion:- shunt	LED signal	as per Specificat	ion defined in Te	ender docu	ıment.	
	63	21.00	Numbers	8187.78	171943.38	AT Par	171943.38	
55	Descrip	tion:- Route	e LED Lamp	as per Specificat	ion defined in Te	ender docu	ıment	
	64	2.00	Numbers					
56	Descrip	tion:- A Ma	rker I FD as i	ner Specification	defined in Tend			
	65	2.00	Numbers	•	15528.56		15528.56	
57					on defined in Ten			
	Descrip	CIOIL- AG M	arker LLD as	s per Specification	ni delilled ili Teli	idei docuii	iletic.	
S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedu (TMS)	ule () 5-S	upply and in	stallation of	Train Manageme	ent & Diagnostic	System	1882908.14	
58	66	9.00	Numbers	16123.72	145113.48	AT Par	145113.48	
36	Descrip	tion:- FIU D	I Module as	per Specification	n defined in Tend	ler docum	ent.	
	67	9.00	Numbers	455.23	4097.07	AT Par	4097.07	
59		tion:- Term ler documen		including ZB ma	rker (as require	d) as per	specification me	ntioned in
	68	4.00	Numbers	637.79	2551.16	AT Par	2551.16	
60				01/2 PHOENIX DI I in Tender docu		r Length v	vith ferrule Numl	pering and
	69	6.00	Numbers	814.62	4887.72	AT Par	4887.72	
61	Descrip	tion:- CABL	E- FLK16/SC	1/3 PHOENIX DI	CABLE- 3 Mete	r Length v	vith ferrule Numl	pering and
				l in Tender docu		3		3
60	70	5.00	Numbers	37.99	189.95	AT Par	189.95	
62	Descrip	tion:- TB Er	nd Stoper - C	LIPFIX 35 as per	Specification de	fined in Te	ender document.	
	72	1.00					164479.09	
63		otion:- Cust	<u>'</u>				on of relevant	supporting
64	73	1.00	Lumpsum	1561589.67	1561589.67	AT Par	1561589.67	
4	Descrip	tion:- Proje	ct Insuaranc	e, EAR (On subm	nission of relevar	nt supporti	ng documents)	
	1							
S.No.	Code	Item Qty upply of Sign			Basic Value	Escl.(%)		Bidding Unit
Scheat	74	117			1.41.00010.00	AT D	28706512.37	
65		33000.00	Metre	429.97	14189010.00		14189010.00	
	+						ed in Tender docu	iment.
66	75	2409.00	Metre					
							ed in Tender docu	ıment.
67	76	2409.00	Metre	780.45				
<u> </u>				4C x1.5 Sq. mm			ed in Tender docu	ıment.
68	77	6325.00	Metre	270.97	1713885.25	AT Par	1713885.25	
00	Descrip	tion:- Powe	r cable 2Cx2	25 Sq. mm as pe	r Specification de	efined in T	ender document.	
60	78	6963.00	Metre	512.89	3571253.07	AT Par	3571253.07	
69	Descrip	tion:- 4Q ca	able as per S	pecification defi	ned in Tender do	cument.		
70	79	2706.00	Metre	189.24	512083.44	AT Par	512083.44	
70	Descrip	tion:- DWC	Full 120mm	for Tail Cable as	per Specification	n defined	in Tender docum	ent.
	80	6.60	Kilometre		1248993.57	AT Par	1248993.57	
71					ation defined in			
	81	55.00	Numbers		30868.75		30868.75	
72					pecification defin			
	82	55.00	Numbers		98937.85		98937.85	
73					ecification define			
	Describ	1						
	0.3	220 00	Number	16 551	26/11 NN	\T D~∽	26/11 AA	
74	83	220.00			3641.00 fined in Tender o		3641.00	

Page 4 of 8 Run Date/Time: 28/05/2025 16:30:45

Tender No: DFC-JP-SNT-WORKS-FLN-10 Closing Date/Time: 30/06/2025 15:00

75	84	440.00	Numbers	11.15	4906.00	AT Par	4906.00	
/ 5	Descrip	tion:- Cable	Tie For Tag	as per Specifica	tion defined in T	ender doc	ument.	
76	85	3300.00	Numbers	11.15	36795.00	AT Par	36795.00	
70	Descrip				ition defined in T			
77	86	6.60	Kilometre	3453.83	22795.28	AT Par	22795.28	
	Descrip	tion:- Barrio	ading Tape	as per Specifica	tion defined in T		ument	
78	87	132.00	Numbers		43500.60		43500.60	
					•		Tender documer	nt.
79	88	9.00	Numbers		1205870.31			
					ecification defin			
80	89	9.00	Numbers		39891.78		39891.78	
					ecification defin			
81	90	4.00	Numbers	36991.62	147966.48	AT Par		
					-		ender document.	
82	91	1.00	Numbers	103664.02	103664.02	AT Par	103664.02	
					pecification defin			
83	92	1.00	Numbers		11023.49		11023.49	
					cification define			
84	93	11.00	Numbers		1026007.73			
<u> </u>				<u> </u>	tion defined in T			
85	94	7.00	Numbers	71747.58	502233.06			
	Descrip			as per Specifica	tion defined in T		ument.	
86	95	8.00	Numbers	4210.45	33683.60		33683.60	
			erification E		fication defined i		document.	
87	96	18.00	Numbers	27270.48	490868.64		490868.64	
<u> </u>	ļ		C Installatio	n Material as pe	r Specification d	efined in T	ender document	•
88	97	30.00	Numbers		267672.30		267672.30	
	Descrip				ification defined			
I	98							
89		1.00	Numbers	9354.14	9354.14		9354.14	
89					9354.14 ification defined			
89 S.No.								Bidding Unit
S.No.	Descrip Item Code	tion:- Relay	QNNA1 (6F-	-2B) as per Spec	ification defined	in Tender	document	
S.No.	Descrip Item Code	Item Qty	QNNA1 (6F- Qty Unit and Logistic	-2B) as per Spec Unit Rate	ification defined Basic Value	in Tender	document Amount	Unit
S.No. Schedu	Item Code Je () 7-W 99 Descrip Establishinsurand	Item Qty Varehousing 1.00 Dition:- Warehoment charges et	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur	Unit Rate S 2618884.09 Logistics (inclu	Basic Value 2618884.09 udes Transpoprtal	AT Paration charge charges	Amount 2618884.09 2618884.09 ges, Store Mana , Hydra charges	Unit gement & s, Material
S.No.	Item Code Jle () 7-W 99 Descrip Establis	Item Qty Varehousing 1.00 otion:- Warehoment charge	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur	Unit Rate S 2618884.09 Logistics (inclu	Basic Value 2618884.09 Ides Transpoprta	Escl.(%) AT Paration char	Amount 2618884.09 2618884.09 ges, Store Mana	Unit gement &
S.No. Schedu 90 S.No.	Item Code Je () 7-W 99 Descrip Establish insurance Item Code	Item Qty Varehousing 1.00 Dition:- Ware the charges et Item Qty Item Qty Item Qty	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur cc	Unit Rate S 2618884.09 Logistics (inclufor shifting, logistics)	Basic Value 2618884.09 udes Transpoprtal	AT Paration charge charges	Amount 2618884.09 2618884.09 ges, Store Mana , Hydra charges	Unit gement & G., Material Bidding
S.No. Schedu 90 S.No. Schedu	Item Code Je () 7-W 99 Descrip Establis insurance Item Code Je () 8-Ir	Item Qty Varehousing 1.00 Diion:- Warehment charge et charges et Item Qty Item Qty Installation of 5750.00	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur cc Qty Unit Signalling o Metre	Unit Rate 2618884.09 Logistics (inclustor shifting, logistics) Unit Rate utdoor items 545.35	Basic Value 2618884.09 udes Transpoprta ading unloading Basic Value	AT Par charges Escl.(%) AT Par	Amount 2618884.09 2618884.09 ges, Store Mana, Hydra charges Amount 8213303.73 3135762.50	gement & s, Material Bidding Unit
S.No. Schedu 90 S.No.	Item Code Je () 7-W 99 Descrip Establis insurance Item Code Je () 8-Ir	Item Qty Varehousing 1.00 Dition:- Warehoment charge charges et Item Qty Installation of 5750.00 Dition:- Manual	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur cc Qty Unit Signalling o Metre	Unit Rate 2618884.09 Logistics (inclustor shifting, logistics) Unit Rate utdoor items 545.35	Basic Value 2618884.09 udes Transpoprta ading unloading Basic Value	AT Par charges Escl.(%) AT Par	Amount 2618884.09 2618884.09 ges, Store Mana , Hydra charges Amount 8213303.73	gement & s, Material Bidding Unit
S.No. Schedu 90 S.No. Schedu 91	Item Code Je () 7-W 99 Descrip Establish insurance Item Code Je () 8-In 100 Descrip	Item Qty Varehousing 1.00 Dition:- Warehoment charge charges et Item Qty Installation of 5750.00 Dition:- Manual	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur cc Qty Unit Signalling o Metre	Unit Rate 2618884.09 Logistics (inclustor shifting, logistics) Unit Rate utdoor items 545.35	Basic Value 2618884.09 udes Transpoprta ading unloading Basic Value	AT Par per Speci	Amount 2618884.09 2618884.09 ges, Store Mana, Hydra charges Amount 8213303.73 3135762.50	gement & s, Material Bidding Unit
S.No. Schedu 90 S.No. Schedu	Item Code Je () 7-W 99 Descrip Establish insurance Item Code Je () 8-Ir 100 Descrip docume 101 Descrip docume	Item Qty Item Qty Item Qty Installation of 5750.00 Stion:- Manual	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur cc Qty Unit Signalling o Metre ual Trenchin	Unit Rate 2618884.09 Logistics (inclustor shifting, logistics) Unit Rate Unit Rate utdoor items 545.35 g 300x1200mm 13.70 ling cable 12C 2	Basic Value 2618884.09 udes Transpoprta bading unloading Basic Value 3135762.50 - Hard Soil as 411000.00 k1.5 Sq. mm as	AT Par per Speci	Amount 2618884.09 2618884.09 2618884.09 ges, Store Mana, Hydra charges Amount 8213303.73 3135762.50 fication defined 411000.00 ification defined	gement & s, Material Bidding Unit
S.No. Schedu 90 S.No. Schedu 91	Item Code Je () 7-W 99 Descrip Establish insurance Item Code Je () 8-Ire 100 Descrip docume 101 Descrip docume 102	Item Qty Varehousing 1.00 Ition:- Warehoment charge charges et Item Qty Installation of 5750.00 Ition:- Manunt. 30000.00 Ition:- Laying nt. 2190.00	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur cc Qty Unit Signalling o Metre ual Trenchin Metre g of Signal	Unit Rate 2618884.09 Logistics (inclustrate) Unit Rate	Basic Value 2618884.09 26188	AT Par per Speci	Amount 2618884.09 2618884.09 ges, Store Mana, Hydra charges Amount 8213303.73 3135762.50 fication defined 411000.00 ification defined	gement & s, Material Bidding Unit in Tender in Tender
S.No. Schedu 90 S.No. Schedu 91	Item Code Je () 7-W 99 Descrip Establish insuranc Item Code Je () 8-Ir 100 Descrip docume 101 Descrip docume 102 Descrip docume	Item Qty Varehousing 1.00 Ption:- Warehoment charge charges et Item Qty Installation of 5750.00 Ption:- Manunt. 30000.00 Ption:- Layin nt. 2190.00 Ption:- Layin nt.	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur cc Qty Unit Signalling o Metre ual Trenchin Metre g of Signal	Unit Rate 2618884.09 Logistics (include for shifting, logistics) Unit Rate	Basic Value 2618884.09 Ides Transpoprta ading unloading Basic Value 3135762.50 Hard Soil as 411000.00 (1.5 Sq. mm as 30003.00 (1.5 Sq. mm as	AT Par per Speci	Amount 2618884.09 2618884.09 2618884.09 ges, Store Mana, Hydra charges Amount 8213303.73 3135762.50 fication defined 411000.00 ification defined 30003.00 ification defined	gement & s, Material Bidding Unit in Tender in Tender
S.No. Schedu 90 S.No. Schedu 91 92	Item Code Je () 7-W 99 Descrip Establish Insurance Item Code Je () 8-In 100 Descrip docume 101 Descrip docume 102 Descrip docume 103	Item Qty Varehousing 1.00 Item Qty Varehousing 1.00 Item Qty Item	QNNA1 (6F- Qty Unit and Logistic: Lumpsum housing and ges, Laobur C Qty Unit Signalling o Metre ual Trenchin Metre g of Signal Metre g of Signal Metre	Unit Rate 2618884.09 Logistics (include for shifting, logistics) Unit Rate	Basic Value 2618884.09 Ides Transpoprta ading unloading Basic Value 3135762.50 Hard Soil as 411000.00 (1.5 Sq. mm as 30003.00 (1.5 Sq. mm as	AT Par per Speci	Amount 2618884.09 2618884.09 2618884.09 ges, Store Mana, Hydra charges Amount 8213303.73 3135762.50 fication defined 411000.00 ification defined 30003.00 ification defined	gement & s, Material Bidding Unit in Tender in Tender
S.No. Schedu 90 S.No. Schedu 91 92	Item Code Je () 7-W 99 Descrip Establish Insurance Item Code Je () 8-In 100 Descrip docume 101 Descrip docume 102 Descrip docume 103	Item Qty Varehousing 1.00 Item Qty Item Qt	QNNA1 (6F- Qty Unit and Logistic: Lumpsum housing and ges, Laobur C Qty Unit Signalling o Metre ual Trenchin Metre g of Signal Metre g of Signal Metre	Unit Rate 2618884.09 Logistics (include for shifting, logistics) Unit Rate	Basic Value 2618884.09 Ides Transpoprta ading unloading Basic Value 3135762.50 Hard Soil as 411000.00 (1.5 Sq. mm as 30003.00 (1.5 Sq. mm as	AT Par per Speci	Amount 2618884.09 2618884.09 2618884.09 ges, Store Mana, Hydra charges Amount 8213303.73 3135762.50 fication defined 411000.00 ification defined 30003.00 ification defined	gement & s, Material Bidding Unit in Tender in Tender
S.No. Schedu 90 S.No. Schedu 91 92 93	Item Code Jescrip Establish Insurance Jescrip Lem Code Jescrip Lem	Item Qty Varehousing 1.00 Item Qty Item Qt	QNNA1 (6F- Qty Unit and Logistic: Lumpsum housing and ges, Laobur C Qty Unit Signalling o Metre ual Trenchin Metre g of Signal Metre g of Signal Metre	Unit Rate 2618884.09 Logistics (include for shifting, logistics) Unit Rate	Basic Value 2618884.09 Ides Transpoprta ading unloading Basic Value 3135762.50 Hard Soil as 411000.00 (1.5 Sq. mm as 30003.00 (1.5 Sq. mm as	AT Par per Speci AT Par per Spec AT Par per Spec AT Par per Speci AT Par per Speci AT Par per Speci AT Par per Spec AT Par per Spec AT Par per Spec	Amount 2618884.09 2618884.09 2618884.09 ges, Store Mana, Hydra charges Amount 8213303.73 3135762.50 fication defined 411000.00 ification defined 30003.00 ification defined	gement & s, Material Bidding Unit in Tender in Tender
S.No. Schedu 90 S.No. Schedu 91	Item Code Je () 7-W 99 Descrip Establish insurance Item Code Je () 8-Ir 100 Descrip docume 101 Descrip docume 102 Descrip docume 103 Descrip docume 104	Item Qty Varehousing 1.00 Pition:- Warehoment charge charges et Item Qty Installation of 5750.00 Pition:- Manunt. 30000.00 Pition:- Laying nt. 2190.00 Pition:- Laying nt. 2190.00 Pition:- Laying nt. 5750.00	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur cc Qty Unit Signalling o Metre and Trenchin Metre and Signal Metre and Grand Metre	Unit Rate 2618884.09 Logistics (inclustry for shifting, logistics) Unit Rate	Basic Value 2618884.09 Ides Transpoprta ading unloading Basic Value 3135762.50 Hard Soil as 411000.00 (1.5 Sq. mm as 30003.00 (1.5 Sq. mm as 78775.00 mm as per Speci	AT Par per Speci	Amount 2618884.09 2618884.09 2618884.09 ges, Store Mana, Hydra charges Amount 8213303.73 3135762.50 fication defined 411000.00 ification defined 30003.00 ification defined	gement & s, Material Bidding Unit in Tender in Tender in Tender
5.No. Schedu 90 5.No. Schedu 91 92 93 94 95	Item Code Je () 7-W 99 Descrip Establish Insurance Item Code Je () 8-Ir 100 Descrip docume 101 Descrip docume 102 Descrip docume 103 Descrip docume 104 Descrip	Item Qty Varehousing 1.00 Item Qty Item Qty	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur Co Qty Unit Signalling o Metre ual Trenchin Metre g of Signal Metre g of Signal Metre g of Signal Metre g of Power of Metre	Unit Rate 2618884.09 Logistics (include for shifting, logistics) Unit Rate Unit Rate	Basic Value 2618884.09 Ides Transpoprta ading unloading Basic Value 3135762.50 Hard Soil as 411000.00 (1.5 Sq. mm as 30003.00 (1.5 Sq. mm as	AT Par per Speci	Amount 2618884.09 2618884.09 2618884.09 ges, Store Mana, Hydra charges Amount 8213303.73 3135762.50 fication defined 411000.00 ification defined 30003.00 ification defined 78775.00 efined in Tender of	gement & s, Material Bidding Unit in Tender in Tender in Tender
S.No. Schedu 90 S.No. Schedu 91 92 93	Item Code Je () 7-W 99 Descrip Establish Insurance Item Code Je () 8-Ir 100 Descrip docume 101 Descrip docume 102 Descrip docume 103 Descrip docume 104 Descrip	Item Qty Varehousing 1.00 Item Qty Item Qty	QNNA1 (6F- Qty Unit and Logistics Lumpsum housing and ges, Laobur Co Qty Unit Signalling o Metre ual Trenchin Metre g of Signal Metre g of Signal Metre g of Signal Metre g of Power of Metre	Unit Rate 2618884.09 Logistics (include for shifting, logistics) Unit Rate Unit Rate	Basic Value 2618884.09 Ides Transpoprta ading unloading Basic Value 3135762.50 Hard Soil as 411000.00 (1.5 Sq. mm as 30003.00 (1.5 Sq. mm as 78775.00 mm as per Speci	AT Par per Speci	Amount 2618884.09 2618884.09 2618884.09 ges, Store Mana, Hydra charges Amount 8213303.73 3135762.50 fication defined 411000.00 ification defined 30003.00 ification defined 78775.00 efined in Tender of	gement & s, Material Bidding Unit in Tender in Tender in Tender

Page 5 of 8 Run Date/Time: 28/05/2025 16:30:45

Tender No: DFC-JP-SNT-WORKS-FLN-10 Closing Date/Time: 30/06/2025 15:00

109	1.00 n:- V Tyr 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay 1.00 n:- Re-F 1.00 n:- Tools 1.00 n:- Mate 40.00 n:- Skille 160.00 n:- Un-S	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installatio Numbers V QNA1K (4F- Numbers V QNNA1 (6F- Numb	10498.56 icator as per Spec 53897.66 as per Specifica 53897.66 as per Specifica 2741.14 B/CH as per Specifica 17646.08 on Material as per 2467.02 -4B) as per Specifica 2055.85 iting on Signal 71767.14 aterial as per Specifical a	pecification define 10498.56 ecification define 538976.60 tion defined in To 323385.96 etion defined in To 19187.98 cification defined 229399.04 er Specification defined 2467.02 cification defined 2467.02 cification defined 2755.85 ling Gears as properties of the defined 43534.28 erial s per Specification defined	AT Par d in Tender AT Par ender doc AT Par ender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par in Tender AT Par ender AT Par	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 ender document 66609.54 document. 2467.02 document. 2055.85 ication defined	in Tender
109	1.00 n:- V Tyy 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay 1.00 n:- Re-P 1.00 n:- Tools 1.00 n:- Mate 40.00 n:- Skille 160.00 n:- Un-S	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installation Numbers Y QNA1K (4F- Numbers Y QNNA1 (6F- Num	10498.56 icator as per Spec 53897.66 as per Specifica 2741.14 B/CH as per Spec 17646.08 on Material as per 2467.02 -4B) as per Spec 2467.02 -2B) as per Spec 2055.85 iting on Signal 71767.14 aterial as per Spec 143534.28 Security of Material 1387.70 reman 1216.38	pecification define 10498.56 ecification define 538976.60 tion defined in To 323385.96 etion defined in To 19187.98 cification defined 229399.04 er Specification defined 2467.02 cification defined 2467.02 cification defined 2467.02 cification defined 43534.28 erial s per Specification define 143534.28 erial s per Specification defined 194620.80	AT Par d in Tende AT Par ender doc AT Par fender doc AT Par in Tender AT Par in Tender AT Par in Tender AT Par in Tender AT Par defined in Tender AT Par cation def AT Par	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 ender document 66609.54 document. 2467.02 document. 2055.85 ication defined 71767.14 er document. 143534.28 ined in Tender document document. 194620.80	in Tender
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay 1.00 n:- Re-F 1.00 n:- Tools 1.00 n:- Mate 40.00 n:- Skille 160.00	Numbers De Route Indi Numbers Docation Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installation Numbers Y QNA1K (4F- Numbers Y QNNA1 (6F- Numbers Y QNNA1 (6F- Numbers AC Installation Numbers Y QNNA1 (6F- Numbers	10498.56 icator as per Spec 53897.66 as per Specifica 53897.66 as per Specifica 2741.14 B/CH as per Specifica 17646.08 on Material as per 2467.02 -4B) as per Specifica 2055.85 iting on Signal 71767.14 aterial as per Specifical a	pecification define 10498.56 ecification define 538976.60 tion defined in To 323385.96 etion defined in To 19187.98 etification defined 229399.04 er Specification defined 2467.02 etification defined 2467.02 etification defined 2055.85 ling Gears as pr 71767.14 ecification defined 143534.28 erial s per Specification defined 55508.00	AT Par d in Tender AT Par ender doc AT Par ender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par in Tender AT Par ender AT Par	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 fender document 66609.54 document. 2467.02 document. 2055.85 ication defined 71767.14 er document. 143534.28 ined in Tender document document.	in Tender
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay 1.00 n:- Re-F 1.00 n:- Tools 1.00 n:- Mate 40.00 n:- Skille 160.00	Numbers De Route Indi Numbers Docation Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installation Numbers Y QNA1K (4F- Numbers Y QNNA1 (6F- Numbers Y QNNA1 (6F- Numbers AC Installation Numbers Y QNNA1 (6F- Numbers	10498.56 icator as per Spec 53897.66 as per Specifica 53897.66 as per Specifica 2741.14 B/CH as per Specifica 17646.08 on Material as per 2467.02 -4B) as per Specifica 2055.85 iting on Signal 71767.14 aterial as per Specifical a	pecification define 10498.56 ecification define 538976.60 tion defined in To 323385.96 etion defined in To 19187.98 etification defined 229399.04 er Specification defined 2467.02 etification defined 2467.02 etification defined 2055.85 ling Gears as pr 71767.14 ecification defined 143534.28 erial s per Specification defined 55508.00	AT Par d in Tender AT Par ender doc AT Par ender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par in Tender AT Par ender AT Par	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 fender document 66609.54 document. 2467.02 document. 2055.85 ication defined 71767.14 er document. 143534.28 ined in Tender document document.	in Tender
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay 1.00 n:- Tools 1.00 n:- Tools 40.00 n:- Skille	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installation Numbers Y QNA1K (4F- Numbers Y QNNA1 (6F- Num	10498.56 icator as per Spec 53897.66 as per Specifica 53897.66 as per Specifica 2741.14 B/CH as per Spec 17646.08 on Material as per 2467.02 -4B) as per Spec 2467.02 -2B) as per Spec 2055.85 riting on Signal 71767.14 aterial as per Sp 143534.28 Security of Material 1387.70 reman	pecification define 10498.56 ecification define 538976.60 tion defined in To 323385.96 etion defined in To 19187.98 etification defined 229399.04 er Specification defined 2467.02 etification defined 2467.02 etification defined 2055.85 ling Gears as pr 71767.14 ecification defined 143534.28 erial s per Specification defined 55508.00	AT Par d in Tender AT Par ender doc AT Par ender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par in Tender AT Par ender AT Par	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 fender document 66609.54 document. 2467.02 document. 2055.85 ication defined 71767.14 er document. 143534.28 ined in Tender document document.	in Tender
Description 109 100 Description 110 Description 111 Description 113 Description 116 Description 116 Description 118 Description 119 Description 110 Description 111 Description 112 Description 112 Description 113 Description 114 Description 115 Description 110 Description 110 Description 111 Description 112 Description 112 Description 113 Description 121 Description 121 Description 121 Description 122 Description 123 Description 124 Description 125 Description 126 Description 126 Description 127 Description 128 Description 128 Description 129 120 12	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay 1.00 n:- Re-F 1.00 n:- Tools 1.00 n:- Mate 40.00	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installatio Numbers Y QNA1K (4F- Numbers Y QNNA1 (6F- Numbers	10498.56 icator as per Spec 53897.66 as per Specifica 53897.66 as per Specifica 2741.14 B/CH as per Specifica 17646.08 on Material as per 2467.02 -4B) as per Specifica 2467.02 -2B) as per Specifica 2767.14 aterial as per Specifica 2767.14 aterial as per Specifica 1387.70	pecification define 10498.56 ecification define 538976.60 tion defined in To 323385.96 etion defined in To 19187.98 cification defined 229399.04 er Specification defined 2467.02 cification defined 2467.02 cification defined 2755.85 ling Gears as properties of the defined 43534.28 erial s per Specification defined	AT Par d in Tender AT Par ender doc AT Par ender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par in Tender AT Par ender AT Par der AT Par der AT Par der AT Par ed in Tender	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 render document 66609.54 document. 2467.02 document. 2055.85 ication defined 71767.14 er document. 143534.28 ined in Tender document.	in Tender
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay 1.00 n:- Re-P	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installation Numbers Y QNA1K (4F- Numbers Y QNNA1 (6F- Numbers	10498.56 icator as per Spec 53897.66 as per Specifica 2741.14 B/CH as per Spec 17646.08 on Material as per 2467.02 -4B) as per Spec 2467.02 -2B) as per Spec 2055.85 iting on Signal 71767.14 aterial as per Spe 143534.28 Security of Mate	pecification define 10498.56 ecification define 538976.60 tion defined in To 323385.96 etion defined in To 19187.98 cification defined 229399.04 er Specification defined 2467.02 cification defined 2467.02 cification defined 2755.85 ling Gears as properties of the defined 43534.28 erial s per Specification defined	AT Par d in Tender AT Par ender doc AT Par ender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par in Tender AT Par ender AT Par der AT Par der AT Par der AT Par ed in Tender	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 render document 66609.54 document. 2467.02 document. 2055.85 ication defined 71767.14 er document. 143534.28 ined in Tender document.	in Tender
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay 1.00 n:- Re-F	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installation Numbers Y QNA1K (4F- Numbers Y QNNA1 (6F- Numbers	10498.56 icator as per Spec 53897.66 as per Specifica 53897.66 as per Specifica 2741.14 B/CH as per Spec 17646.08 on Material as per 2467.02 -4B) as per Spec 2467.02 -2B) as per Spec 2055.85 riting on Signal 71767.14 aterial as per Spec 143534.28	pecification define 10498.56 ecification defined in Tour 323385.96 etion defined in Tour 19187.98 ecification defined 229399.04 er Specification defined 2467.02 ecification defined 2055.85 ling Gears as properties of the pecification defined 2055.85 ling Gears as properties are properties at the pecification defined 24534.28	AT Par d in Tender AT Par ender doc AT Par ender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par in Tender AT Par in Tender AT Par ender AT Par in Tender AT Par ender AT Par	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 ender document 66609.54 document. 2467.02 document. 2055.85 ication defined 71767.14 er document.	in Tender
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay 1.00 n:- Re-F	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installatio Numbers y QNA1K (4F- Numbers y QNNA1 (6F- Numbers aintig & Wr Lumpsum S and T&M Mi	10498.56 icator as per Specifica 53897.66 as per Specifica 2741.14 B/CH as per Specifica 17646.08 on Material as per 2467.02 -4B) as per Specifica 2467.02 -2B) as per Specifica 2747.14 aterial as per Specifica 2747.14	pecification define 10498.56 ecification define 538976.60 tion defined in Tomorphism 323385.96 etion defined in Tomorphism 19187.98 ecification defined 229399.04 er Specification d 66609.54 ification defined 2467.02 ecification defined 2055.85 ling Gears as properties of the proper	AT Par d in Tender AT Par ender doc AT Par ender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par in Tender AT Par in Tender AT Par er Specif ed in Tender	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 fender document 66609.54 document. 2467.02 document. 2055.85 ication defined 71767.14 er document.	
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay 1.00 n:- Re-F	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installation Numbers Y QNA1K (4F- Numbers Y QNNA1 (6F- Numbers Y QNNA1 (6F- Numbers Paintig & Wr	10498.56 icator as per Spec 53897.66 as per Specifica 53897.66 as per Specifica 2741.14 B/CH as per Specifica 17646.08 on Material as per 2467.02 -4B) as per Specifica 2467.02 -2B) as per Specifica 2055.85 iting on Signal	pecification define 10498.56 ecification define 538976.60 tion defined in Tomas 323385.96 etion defined 229399.04 er Specification defined 2467.02 eification defined 2467.02 eification defined 2055.85 ling Gears as p	AT Par d in Tender AT Par ender doc AT Par fender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par oer Specif	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 ender document 66609.54 document. 2467.02 document. 2055.85 ication defined	
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay 1.00 n:- Re-F	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installation Numbers Y QNA1K (4F- Numbers Y QNNA1 (6F- Numbers Paintig & Wr	10498.56 icator as per Spec 53897.66 as per Specifica 53897.66 as per Specifica 2741.14 B/CH as per Spec 17646.08 on Material as per 2467.02 -4B) as per Spec 2467.02 -2B) as per Spec 2055.85 riting on Signal	pecification define 10498.56 ecification defined in Tour 323385.96 etion defined in Tour 19187.98 ecification defined 229399.04 er Specification defined 2467.02 ecification defined 2467.02 ecification defined 2055.85 ling Gears as properties and the second seco	AT Par d in Tender AT Par ender doc AT Par ender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par in Tender AT Par in Tender AT Par in Tender AT Par	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 render document 66609.54 document. 2467.02 document. 2055.85 ication defined	
99 Description 109 100 Description 110 Description 111 Description 113 Description 115 Description 116 Description 118 Description 110 Description 110 Description 111 Description 112 Description 112 Description 112 Description 112 Description 112 Description 113 Description 114 Description 115 Description 116 Description 117 Description 110 Description 120 Description 121 Description 121 Description 122 Description 123 Description 124 Description 125 Description 126 Description 1	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay	Numbers De Route Indi Numbers Docation Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installatio Numbers Y QNA1K (4F- Numbers Y QNNA1 (6F- Numbers	10498.56 icator as per Specifica	pecification define 10498.56 ecification define 538976.60 tion defined in Tomas 19187.98 ecification defined in Tomas 19187.98 ecification defined 229399.04 er Specification defined 66609.54 iffication defined 2467.02 ecification defined 2055.85	AT Par d in Tender AT Par ender doce AT Par ender doce AT Par in Tender AT Par efined in T AT Par in Tender AT Par in Tender AT Par in Tender AT Par	10498.56 or document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 fender document 66609.54 document. 2467.02 document.	
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00 n:- Relay	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installatio Numbers y QNA1K (4F- Numbers y QNNA1 (6F-	10498.56 icator as per Specifica	pecification define 10498.56 ecification define 538976.60 tion defined in Tomas 323385.96 ation defined in Tomas 19187.98 cification defined 229399.04 er Specification defined 66609.54 dification defined 2467.02 cification defined	AT Par d in Tender AT Par ender doc AT Par fender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par in Tender AT Par in Tender AT Par	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 ender document 66609.54 document. 2467.02 document.	
99	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay 1.00	Numbers De Route Indi Numbers Docation Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installation Numbers Y QNA1K (4F-	10498.56 icator as per Specifica	pecification define 10498.56 ecification defined in To 323385.96 etion defined in To 19187.98 ecification defined 229399.04 er Specification defined 66609.54 efication defined 2467.02	AT Par d in Tende AT Par ender doc AT Par ender doc AT Par in Tender AT Par efined in T AT Par in Tender AT Par	10498.56 or document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 render document 66609.54 document. 2467.02	
99 Description 109 100 Description 110 Description 111 Description 113 Description 115 Description 116 Description 116 Description 118 Description 110 Description 110 Description 110 Description 111 Description 112 Description 112 Description 112 Description 112 Description 112 Description 111 Description 112 Description 111 Description 112 Description 111 Description 1111 Description 111 Description 111 Description 111 Description	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00 n:- Relay	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installation Numbers Y QNA1K (4F-	10498.56 icator as per Specifica	pecification define 10498.56 ecification defined in To 323385.96 etion defined in To 19187.98 ecification defined 229399.04 er Specification defined 66609.54 efication defined	AT Par d in Tende AT Par ender doc AT Par ender doc AT Par in Tender AT Par efined in T AT Par in Tender	10498.56 or document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 fender document 66609.54 document.	
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD 27.00	Numbers De Route Indi Numbers Docation Box Numbers Location Box Numbers Ilation of LVE Numbers AC Installation Numbers	10498.56 icator as per Specifica	pecification define 10498.56 ecification defined in Tourish 323385.96 etion defined in Tourish 19187.98 effication defined 229399.04 er Specification defication defined 66609.54	AT Par d in Tende AT Par ender doce AT Par ender doc AT Par in Tender AT Par efined in T	10498.56 or document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 ender document 66609.54	
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00 n:- MSD	Numbers De Route Indi Numbers Location Box Location Box Numbers Location Box Numbers Numbers Ilation of LVE Numbers	10498.56 icator as per Specifica	pecification define 10498.56 ecification define 538976.60 tion defined in Tagas 323385.96 etion defined in Tagas 7.98 ecification defined 229399.04 er Specification d	AT Par d in Tende AT Par ender doc AT Par fender doc AT Par in Tender AT Par efined in T	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04 fender document	
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta 13.00	Numbers De Route Indi Numbers Location Box Numbers Location Box Numbers Ilation of LVE	10498.56 icator as per Spe 53897.66 as per Specifica 53897.66 as per Specifica 2741.14 B/CH as per Spec 17646.08	pecification define 10498.56 ecification define 538976.60 tion defined in To 323385.96 etion defined in To 19187.98 cification defined 229399.04	AT Par d in Tende AT Par ender docu AT Par ender doc AT Par in Tender AT Par	10498.56 or document. 538976.60 ument. 323385.96 ument. 19187.98 document. 229399.04	
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00 n:- Insta	Numbers De Route Indi Numbers Docation Box Numbers Location Box Numbers	10498.56 icator as per Specifica 53897.66 as per Specifica as per Specifica 2741.14 B/CH as per Specifica per Specifica 2741.14	pecification define 10498.56 ecification defined in Tourish 323385.96 etion defined in Tourish 19187.98 ecification defined	AT Par d in Tende AT Par ender docu AT Par ender doc AT Par in Tender	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98 document.	
109	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half 7.00	Numbers De Route Indi Numbers Docation Box Numbers Location Box Numbers	10498.56 icator as per Spe 53897.66 as per Specifica 53897.66 as per Specifica 2741.14	pecification define 10498.56 ecification define 538976.60 tion defined in To 323385.96 ation defined in To 19187.98	AT Par d in Tende AT Par ender docu AT Par ender doc AT Par	10498.56 er document. 538976.60 ument. 323385.96 ument. 19187.98	
99	1.00 n:- V Typ 10.00 n:- Full L 6.00 n:- Half	Numbers De Route Indi Numbers Location Box Numbers Location Box	10498.56 icator as per Spe 53897.66 as per Specifica 53897.66 as per Specifica	pecification define 10498.56 ecification define 538976.60 tion defined in To 323385.96 ation defined in T	AT Par d in Tende AT Par ender docu AT Par ender doc	10498.56 er document. 538976.60 ument. 323385.96 ument.	
99	1.00 n:- V Typ 10.00 n:- Full L 6.00	Numbers De Route Indi Numbers Cocation Box Numbers	10498.56 icator as per Spe 53897.66 as per Specifica 53897.66	pecification define 10498.56 ecification define 538976.60 tion defined in To 323385.96	AT Par d in Tende AT Par ender docu AT Par	10498.56 er document. 538976.60 ument. 323385.96	
99	1.00 n:- V Туր 10.00 n:- Full L	Numbers oe Route Ind Numbers ocation Box	10498.56 icator as per Spe 53897.66 as per Specifica	pecification defin 10498.56 ecification define 538976.60 tion defined in To	AT Par d in Tende AT Par ender docu	10498.56 er document. 538976.60 ument.	
99	1.00 n:- V Typ 10.00	Numbers be Route Ind Numbers	10498.56 icator as per Spe 53897.66	pecification defin 10498.56 ecification define 538976.60	AT Par d in Tende AT Par	10498.56 er document. 538976.60	
99	1.00 n:- V Ty _i	Numbers oe Route Ind	10498.56 icator as per Spe	pecification defin 10498.56 ecification define	AT Par d in Tende	10498.56 er document.	
99	1.00	Numbers	10498.56	pecification defin 10498.56	AT Par	10498.56	
99				pecification defin			
99	n:- Num	eric Route In	dicator as per Si		ed in Tend	der document.	
99							
99	1.00						
99						ender document.	
99	4.00					41994.24	
99				pecification defin			
99	8.00	_					
99	n:- 4 Asp	pect Signal M		pecification defin	ed in Tend	ler document.	
99	8.00			474134.96			
99				ication defined in		ocument.	
99	1000.00	Metre	2055.85	2055850.00	AT Par	2055850.00	
99	n:- Insta	llation of 20F	P PIJF Jointing Kit	as per Specifica	tion define	ed in Tender docu	ment.
99	5.00	Numbers	1644.68	8223.40	AT Par	8223.40	
99	n:- Insta	llation of Cal	ole Tag as per Sp	pecification defin	ed in Tend	der document.	
99	200.00	Numbers	6.85	1370.00	AT Par	1370.00	
99 Description 109 Description document. 110 Description 111	n:- Print	ing Of Cable	Tag as per Spec	ification defined	in Tender	document.	
99 Description 109 Description document. 110	200.00	Numbers	6.85	1370.00	AT Par	1370.00	
99 Description 109 100 Description document.						efined in Tender of	document
Description 109 Descriptio	50.00	Numbers	548.23	27411.50	AT Par	27411.50	
Description	n:- msc	allation of	Electronic Routi	е магкег аз р	er Speciii	cation defined	in ienae
99 Description	50.00					4283.00	in Tanda
99				•			•
1108 1 6	6000.00					82200.00	
						ender document.	
98	2460.00					33702.00	
						ender document.	
97	600.00					8220.00	

Page 6 of 8 Run Date/Time: 28/05/2025 16:30:45

Tender No: DFC-JP-SNT-WORKS-FLN-10 **Closing Date/Time:** 30/06/2025 15:00

	•			<u></u>		,		
122	131	1.00	Lumpsum			_	13097454.73	
122	Descrip	tion:- Indoo	r work s per	Specification de	efined in Tender	document.		
123	132	1.00	Lumpsum	3071286.19	3071286.19	AT Par	3071286.19	
123	Descrip	tion:- Outdo	oor and Tele	com work as pei	Specification de	efined in Te	ender document.	
124	133	1.00	Lumpsum	9069708.59	9069708.59	AT Par	9069708.59	
124	Descrip	tion:- El wo	rk as per Spe	ecification defin	ed in Tender doc	ument.		
	1							
S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedu	ile () 10-	Verification a	and Validatio	n cost			16610573.76	
125	134	1.00	Lumpsum	13325394.23	13325394.23	AT Par	13325394.23	
123	Descrip	tion:- Indoo	r work as pe	r Specification o	lefined in Tendei	r documen	t.	
126	135	1.00	Lumpsum	195278.81	195278.81	AT Par	195278.81	
120	Descrip	tion:- Outdo	oor and Tele	com work as pei	Specification de	efined in Te	ender document.	
127	136	1.00	Lumpsum	3089900.72	3089900.72	AT Par	3089900.72	
127	Descrip	tion:- El wo	rk as per Spe	ecification defin	ed in Tender doc	ument		
	1							
S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedu	ile () 11-	Integrated T	esting and co	ommissioning (l	TC) cost		16961453.40	
128	137	1.00	Lumpsum	4075658.52	4075658.52	AT Par	4075658.52	
120	Descrip	tion:- Indoo	r work as pe	r Specification o	lefined in Tendei	r documen	t.	
129	138	1.00	Lumpsum	9085624.75	9085624.75	AT Par	9085624.75	
123	Descrip	tion:- Outdo	oor and Tele	com work as pei	Specification de	efined in Te	ender document.	
130	139	1.00	Lumpsum	3281254.22	3281254.22	AT Par	3281254.22	
150	Descrip	tion:- El wo	rk as per Spe	ecification define	ed in Tender doc	ument.		
131	140	1.00	Lumpsum	518915.91	518915.91	AT Par	518915.91	
131	Descrip	tion:- Medic	al, Environm	nent Health & Sa	afety (M. EHS) co	st		
S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedu	ile () 12-	TMS Softwar	e Developme	ent + Impliment	ation Cost (SITC))	61272607.85	
	140	1.00	Lumpsum	61272607.85	61272607.85	AT Par	61272607.85	
132	Implime		: (SITC), upg	radation as pe			oftware Develo RCT and Integr	
		•						

3. ITEM BREAKUP

No item break up added

4. ELIGIBILITY CONDITIONS

Important All documents uploaded and remarks / confirmation entered by the bidders against anyeligibility condition shall be opened as part of technical bid only

Special Financial Criteria

S.No.		Confirmation Required		Documents Uploading
1	As per Tender Document	No	Nο	Allowed (Mandatory)

5. COMPLIANCE

Important All documents uploaded and remarks / confirmation entered by the bidders against any compliance condition shall be opened as part of technical bid only.

Check Lst

S.No.	Description	Confirmation	Remarks	Documents
		Required	Allowed	Uploading

Page 7 of 8 Run Date/Time: 28/05/2025 16:30:45

Tender No: DFC-JP-SNT-WORKS-FLN-10 Closing Date/Time: 30/06/2025 15:00

ı	1	As nor Tondor Document	No	No	Not Allowed	
	1	As per Tender Document	No	INO	Not Allowed	

Commercial-Compliance

S.No.		Confirmation Required		Documents Uploading
1	As per Tender Document	No	I/I/O	Allowed (Mandatory)
2	Please enter the percentage of local content in the material being offered. Please enter 0 for fully imported items, and 100 for fully indigenous items. The definition and calculation of local content shall be in accordance with the Make in India policy as incorporated in the tender conditions.	No	YAC	Allowed (Optional)

General Instructions

S.No.	Description	Confirmation	Remarks	Documents
		Required	Allowed	Uploading
1	As per Tender Document	No	No	Not Allowed

Special Conditions

S.No.		Confirmation Required		Documents Uploading
1	As per Tender Document	No	No	Not Allowed

Technical-Compliances

S.No.		Confirmation Required		Documents Uploading
1	As per Tender Document	No	INO	Allowed (Mandatory)

Undertakings

S.No.		Confirmation Required		Documents Uploading
1	As per Tender Document	No	No	Not Allowed

6. Documents attached with tender

S.No.	Document Name	Document Description
1	TechnicalBidPacket-A.pdf	Technical Bid
2	FinancialBidPacket-B.pdf	Financial Bid
3	TentativeSIPFLN_Lineno.3_3A6_6A.pdf	Tentative SIP of FLN

This tender complies with Public Procurement Policy (Make in India) Order 2017, dated 15/06/2017, issued by Department of Industrial Promotion and Policy, Ministry of Commerce, circulated vide Railway Board letter no. 2015/RS(G)/779/5 dated 03/08/2017 and 27/12/2017 and amendments/ revisions thereof.

As a Tender Inviting Authority, the undersigned has ensured that the issue of this tender does not violate provisions of GFR regarding procurement through GeM.

Signed By: AKSHAY KAUSHAL

Designation: DYPM/SNT

Page 8 of 8 Run Date/Time: 28/05/2025 16:30:45